=LPDB

*UXSD 5R]NiDG "5 /  7\J
o
™
=
n
oD
D
™
o3
=
)
7N 7\6] 7\6]
_CI\NREF\ " $QDI]D L RFHQD IDNRGFL T\ZQRGFL GU KDE %.F]DN “IHIHINND , PJULQT UJ\NTDQRZVND -RIDQID $
SREHUI SUIRI 8-~ GU3DZRZVND %DUEDID $  $ "5 -Dy
7\6] "5 /
“IHIHAND , PJULQT 5 7\6] )
_UJ\TDQRZVND -RIDQID $ 7\G] OINIREIRIRIID RJYIQD L T\ZQRGFL GU 2WVJHZVND "RPIQIND $%
"5 \ 7HFKQRRID SRIDZ._PJU /XG\QID "5 /
QIoPO 6] -XVINQD $% $% "5
= IHIHIAND =D 7\6]
PJULQT ST " e
INIbRZ = .ULQLF]Q\]?U\sv FKngE §ICIDN -DQXVINR .DPID $%
7\6] VND OINIREIRRID RIYIQD L NZQRGFL G
-RIDQID $ 2W]HZVND "RPIQIND $% 7\G]
ZHFKQRIRJL y
N 5 5 OINURELRIRILD RJYIQD L
T\ZQRGFL - G T\ZQRGFL GU 20V]HZVND
Gl 6HPIRQ ney “RPIQIND $%
3UTHP\VID 7] “IHIHIAND , PJULQT .UJ\TDQRZVND "5 /
g_?ﬂ 7HFKQRRJD SRIDZ _PJU /XG\QID “RIDQID_$ 5 =o |
a . SXVINOD % $% el
= DU _ _
x 5 7 ‘ “IHIHINND , PJULQT .UJ\NTDQRZVND -RIDQID $
g 7\6] L
7HFKQRRID SRIDZ._PJU /XG\QID 7\6]
-XVINQD $% S "5 “IHIHINND , PJULQT UJ\NTDQRZVND -RIDQID $
=D .
5 DU
7\6] el

OINURELRIRJID RJYIQD L T\ZQRGFL GU 2IVJHZVND “RPLQIND $%
"5 /

7\6]

$QDU]D L RFHQD IDNRGFL T\ZQRGFL GU KDE %L F]DN SREHUI SURI
8-" GU3DZIRZVND %DUEDID $ $ "5 /

7\6]
OINIRELRIRJID RJyIQD L T\ZQRGFL GU 2VJHZVND *RPLQND $%
"5 /

7\6]

$QDIL]D L RFHQD IDNRGFL T\ZQRGFL ~GUKDE %LF]DN SREHUI SURI
8-" GU 3DZIRZVND %DUEDUD =DICFLD RQ (LQH "5

7HFKQRIRJLD SRIDZ P JU /XG\QID
-XVINQD =DICFLD RQ 0L.QH "5
-DU

7\6]

7HFKQRIRJLD T\ZQRGFL GU 6IHPLRQ
3UJHP\V:DZ SIRI 8-~ $ "5
/

7\6]

7HFKQRIRJILD T\ZQRGFL G
U 6lHPIRQ 3U]HP\VaDZ
SIRI 8-" $

5 7/




=LPDB
*UXSD 5RINiDG "5

/  7\J

7\6]
OINURELRIRILD RIYIQD L T\ZQRGFL Gl

7\6]

7HFKQRIRJLD T\ZQRGFL GU 6LHPIRQ

7\6]

"HIHND , PJULQT .U]\IDQRZVND -RIDQID =DICFLD

KDE _UXSD 3IRIW SIRI 8- =DICFID RQ 3UJHP\ViDZ SIRI 8- =DICFID RQ ROQUQH "5 =
IH =5 = IQH =5 = |
7\6] 7\6]
*HIHND , PIJLQT .UT\TOQRZVND -RIDQID =DICFD |||$QDLID L RFHQD IDNRGFL T\ZQRBFL GU KDE SAF]ON
RQIQH "5 = SREHUI SURI 8-~ GU3DZRZVND %DUEDID $  $
5/
7\G]
7HFKQRIRJLD T\ZQREF. GU BIHPLRQ el .
3UJHP\ViDZ SIRI 8- $% $QDIJD L RFHQD IDNRGFL T\ZQRGFL GU KDE %lF]DN SREHUI SIRI
"5 / 8" Gl 3DZIRZVND %DUEDID =DICFIDRQUQH =5 7/
7\6] 7\G]
7HFKQRIRJID T\ZQRGFL GU GIHPIRQ 7HFKQRIRJID T\ZQRGFL GU GIHPIRQ
3UJHP\ViDZ SIRI 8- =DICFID RQ 3UJHP\ViDZ SIRI 8- =DICFID RQ
WQH =5 7 WH "5 =
7NG]
3RGVIDZ\ JGUIRZID
SXEIFIQHIR - XFKDWND
(2 3 "5

7\6] 7\6]
o OINIREIRIRJLD RJYIQD L T\ZQRGFL GU 2VJHZVND "RPIQIND $% OIMREIRRID RIYIOD L T\ZQREFL 6 _
= "5 / 2IVJHZVND "RPLQIND $%
w 5/
2 7\6]
3RGVIDZ\ JGURZID SXEIF]QHIR - XFKD
WND (2D $ 5 .
7\6] 7\6] 7\G]
OINREIRIRIID RIIQD L T\ZQREFL GUKDE . IXSD 3IRIW *LHIHIND , PIJLQT .UJ\TOQRZVND -RIDQID  =DICFD “IHIHNND , PJULQT .UJ\TDQRZVND -RIDQID $
SIRI 8-* =DICFDRQUQH =5 = RQUQH =5 = 5 Dl
7\G] 7\] 7\G]
$QDILD L RFHQD IDNRGFL T\ZQRGFL GUKDE %\F]DN SREHUI SURI OINIREIRIRJLD RJYIQD L T\ZQRGFL GU 2VJHZVND *RPIQIND $% _1QIFIQ\ JDUNV FKRUYE GIC]DN
8-" GU3DZRZVND%DIEDID $  $ "5 / "5 / “DQXVINR . DPUD =DICFID RQ UIQH
"5 -
7\6] 7\6] 7\6]
OINIREIRIRIID RJYIQD L T\ZQRGF. GU KDE _UXSD 3IRIl 7HFKQRIRIID T\ZQRGFL GU 6IHPIRQ 7HFKQRIRJLD SRIIDZ PJU /XG\QID el
SIRI 8- =DICFDRQUQH =5 - 3UJHP\ViDZ SURI 8- =DICFID RQ SXVINQD $% $% "5 7HFKQRIRJLD T\ZQRGFL GU 6IHPIRQ
H "5 = DU 3UJHP\ViDZ SIRI 8-" $ "5
7\6] /
_UQIFTQ\ TDUV FKRUYE §ICIDN ~DQXVINR .DPUD $% el . el .
"5 & $QDIID | RFHQD IDNRGFL T\ZQRGFL SIRI $QDIID | RFHQD IDNRGFL T\ZQRGFL SIRI 6] _
~XVIFIDN /HViDZ =DICFID RQ tQH ~XVIFIDN /HViDZ =DICFID RQ tQH “IHIHIND , PJULQT .UJ\TDQRZVND -RIDQID =DICFLD
7\G] "5 : "5 : RQUQH =5 =D
_1QIF]Q\ ]DUNV FKRUYE §IC]DN -DQXVINR .DPUD =DI =
CFDRQUQH =5 & 7\6]
JLQIFTQ\ JDI\V FKRUYE  GICION -DQXVINR -DPUD =D
7\] 7\G] CFDRQUQH =5 =
_UQIFTQ\ IDIV FKRUYE ICTDN $QDLID L RFHOD IDNRGF. T\ZQRGFL G KDE %(FJON SREHUI SIRI
“DQXVINR .DPUD $% "5 8-" GU3DZRZVND%DIEDID $  $ "5 /
&
% 7\G] 7\G]
= ney 3RGVIDZ\ JGIRZID SXENFJQHIR - XFKD JLQIFTQ\ JDI\V FKRUYE GICION -DQXVINR -DPUD =D
© OINREIRIRJID RJYIQD L T\ZQRGF. GUKDE .UXSD 3IRI WND (ZD =DICFIDRQUQH = 5 CFDRQUQH =5 =
% SIRI 8-* =DICFDRQUQH =5 = . | |

7\6]

LUQIFTQ\ JDUNV FKRUYE GICIDN -DQXVINR .DPUD =Dl
CFDRQUGH "5 =




=LPDB

*UXSD 5R]NiDG "5 /  7\J
7\G]
$QDIID L RFHQD IDNRGFL
T\ZQRGFL SIRI -XVIF]DN 7\G]
A /HVIDZ =DICFID RQ IIGH $QDIID L
= "5 - RFHQD
= IDNRGFL
T} T\ZQRGFL
I SIRI
o -XV]F]ON
JHVIDZ =D
ICFLD RQ
0QH -
5 t




